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    Max. marks : 75

SECTION A — (10× 2 = 20 marks)

Answer any TEN questions.
1. Define statistics.
2. Mention any two sources of collecting primary data

3. State the importance of bar diagram.
4. What is Histogram?

5. What do you mean by Weighted Mean?

6. Calculate geometric mean of the following:

50
72
54
82
93

7.  Find Q1 of the following series:

	Size of shoes
	Frequency

	4
	10

	4.5
	18

	5
	22

	5.5
	25


8. What is Range?

9. Calculate mean deviation from median for the following data:

100,
150,
200,
250,
360,
490,
500,
600,
671

10. Coefficient of variation of two series are 58%. The Standard deviation are 21.2.  What is the arithmetic mean?

11. From the marks secured by 120 students in section A the following measures are obtained:

Mean = 46.83,
S.D. =14.8,
Mode = 51.67
     Calculate the measure of skewness.

12. In a moderately skewed frequency distribution, the mean is `15 and the median is `14.  If the coefficient of variation is 30%, find the Pearsonian coefficient of skewness.
SECTION B — (5 × 5 = 25 Marks)

Answer any FIVE questions.
13. Explain the various sources of collecting primary data.
14. What ate the objectives of classification of data?

15. Calculate mean from the following data:

   Value                                                             Frequency

Less than 10




  
 4

Less than 20




  
10

Less than 30





15

Less than 40





25

Less than 50





30

Less than 60





35

Less than 70





45

Less than 80





65

16. The frequency distribution of weight in grams of mangoes of a given variety is given below.  Calculate the arithmetic mode.

	Weight (in gms)
	No. of mangoes

	410-419
	14

	420-429
	20

	430-439
	42

	440-449
	54

	450-459
	45

	460-469
	18

	470-479
	7


17. Calculate mean deviation and mean coefficient of dispersion from the following data:

	Mean
	Frequency

	10
	8

	15
	12

	20
	15

	30
	10

	40
	3

	50
	2


18. Coefficient of variations of two series are 60% and 80% respectively.  Their standard deviations are 20 and 16 respectively.  What are their arithmetic mean?

19. Calculate Karl Pearson’s coefficient of skewness for the following data:
            25, 15, 23, 40, 27, 25, 23, 25, 20.
SECTION C — (2 × 15 = 30 Marks)

Answer any TWO questions.
20. Represent the following data by a pie diagram.

	Items
	Expenditure (in `)

	Food
	87

	Clothing
	24

	Recreation
	11

	Education
	13

	Rent
	25

	Miscellaneous
	20



21. Find the mean and median ages of married women at first child birth.

	Age at the birth of firth child
	13
	14
	15
	16
	17
	18
	19
	20
	21

	No. of married women
	37
	162
	343
	390
	256
	433
	161
	355
	65

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	


22. The following data relate to the age of a group of workers.  Calculate the arithmetic mean standard deviation.

Age


20-25
25-30
30-35
35-40
40-45
45-50
50-55

No. of workers
  170
  110
  80
  45
  40
  30
  25


23. Calculate the Bowley’s coefficient or skewness for the following data:

	Weekly Income (`)
	No. of Families

	501-600
	  5

	601-700
	 17

	701-800
	 80

	801-900
	186

	901-1000
	208

	1001-1100
	134

	1101-1200
	  68

	1201-1300
	  18


[P.T.O.]











PAGE  
1

